[ Efficiency vs vertpos |
- 0.2

+—

TOPY SO RN N S
@ E : : :
L S AR

O -
§0.14F
[ o
£0.12F
0.1F
0.08
0.06
0.04
0.02

q

Ratio

1072 10 1 10 0?
TP vertr (cr%)

—=— DQM_mkFit_baseline_lowPT

Efficienq —— pQm_mkFit_baselinesiter_lowPT

~ 0.5
20.45
n
> 04
>
2
$0.35
0.3
0.25]
0.2
0.15
0.1
0.05

q

0.8

................................................

ettici

.......

.......

N
+
v

Ratio

10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

N 1.2
> i
D_ -
g’ A ..
n i
e [i b i
> 0.8------ Broseseedeeasanns R PR TE STETEE O eeeeens
%) 3 : : : : :
c | . . . . .
[} i : : . . .
[} ' . H . H
£ 0.6t e preeee
[ i : : : : :
9 -----------------------------
I
o
-10 5 10 15 20

Sim. PV z (cm)



	Contents
	Page 1


